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  Mole Conversion WS






(periodic table)

molar mass (g) = 1 mol = 6.022 x 1023 atoms

You must show all unit cancellation in order to get credit.  
No work shown means no credit is given.

Write the units in the conversion.
Label everything including the answer.  Give the answer using the proper # of sig. figs.
Part A:
Determine the number of moles present in the following quantities:
1. 5.48 x 1010 atoms of C

2. 5.23 x 1024 atoms of Al
3. 230 atoms of Fe

4. 12.0 g of C

5. 0.0983 g of Te

6. 3.98 g of Ca
Part B:
Determine the number of atoms in the following quantities:

1. 1.25 moles V
2. 2.0 x 10-12 moles Si
3. 1254 moles Pb

4. 24.9 g of Mg

5. 0.0534 g Sn

6.
1.75 x 103 g Ni

Part C:
Determine the mass of the following quantities:

1. 4.86 x 1018 atoms of Cu

2. 3.98 x 1022 atoms Mn

3. 8.9 x 1011 atoms Zn

4. 4.98 x 10-11 moles Ag

5. 22.4 moles U

6.
15.90 moles Cr
